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3. Which one of the following statements is TRUE? (c and ,L are real numbers)

(r)

(b)

(.)

(d)

(u)

If lim /(r) : l@), then / is continuous at c.

If /(c) - .1, then tim f (x) - L $4--a)c ,. c

If lim /(c) : tr, then f (c) : L LH=--;=; !, \*/ " -1-L- 
L___._

If /(c) is undefined, then lim /(c) does not exist.-+ -f-?-
If lim /(r) : oo, then /(c) is undefined.
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-/ ^,/^j # l\/ lr
( ) q 7. Find the interval(s) on which
v-

(u) [-3,0) u (0, m)
(b) (-4, -3) u (-3,0) u (0, oo)

(") (-*, -4) u (0, oo)

(d) (--, -a) U [-3, oo)

(e) (-4, -31
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(a) / has a nonremovable discontinuity at r - -L.
(b) / has a nonremovable discontinuity at o:0.
(c) / has a nonremovable discontinuity at r - 1.

(d) / has a removable discontinuity at z : -1.
(e) / has a removable discontinuity at r : l.

9. Which one of the following statements is TRUE about /(o) :41:,

(correct)
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11. lim([2rl +l-2x\)r)i
,"t iL] ,6Ly
( I r,)'< -t (a) is equal to -1

(b) is equal to 1

(c) is equal to 0

(d) is equal to 2

(e) does not exist
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. -l 1
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I + (-t)
| /aetl r 6-a'l)
ll!^'Y4!r

z

_\ \,*-/[rx, + [-2*J)
- r- \.-

: -l

^- +71r ? ll 6

Qer'o- f cht' 
44

12. The graph of /(r) : -+ - has

(V.A: vertical asymptote(s) ; H.A: horizontal asymptote(s))

(a) 2 V. A. and no H.A.

(b) 2 V. A. and 1 H. A.

(c) 3 V. A. and no H. A.

(d) 3 V. A. and 1 H. A.

(e) no V. A. and 1 H. A.
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(a) -15
(b) -11
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13. If g - Ax * B is an equation of the tangent line to the graph of /(r)
at the point (1,11), then A - B :
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Math 101. 241, Major Exam I Answer KEY

C NIASTER. CODEOl CODEO2 CODEO3 CODEO4
1 A A" E, B. B.
2 A C" B. B, D,
3 A C. B" E, B,
4 A A, D" D. A"
5 A A, E" A" A"
6 A D, B" D" C,
7 C" A" C" A"
8 A o C, A" D"
I A B" c, C, C"
10 A D." E,. E," E,"
11 A B,, A,, C,. E,,
t2 A A., E," A,, A,"
13 A C," B,, E," E,.
t4 A D,. A," A,, D,"


